Code No. : 10802 B Sub. Code : ESEC 11

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

First Semester
Economics
Skill Enhancement Course — DEMOGRAPHY
(For those who joined in July 2023 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. o288 a6 Wwé&saT Cgrmss GESW.L'_LIH'L'_Lq_GMGUT
o (HeUTSSIWIGUIT ;
() LOTOSED (=) Tl eiler Smerest
(@) &miTed NiT&ev (FF)  ereu(mLilebem ey

Optimum theory of population was developed by
(a) Malthus (b) Edwin cannon
(c) Karl Marx . (d) None

f



to

wssar Qgres LHH <sifleflud gifeuons Liptiug

ereTu @b ’ 4.

(=) wasdr Asmes sesbal Uy
(<) Ww&sa Asmersuiue

(@) wssar AsTeas SiHleliued
(F)  @pslenwuwed

The scientific study of population is known as

(a) Census _
() Demography
(¢) Population science

(d) Gerontology

@pdwureiles s wrhlewsdd umdlar  Hdgib
GHODEUNS 2 6TeTg)

(=) anfwumerm (<) Gayarm

@ sIRETE (M) uEsT \
Which state has the minimum sex ratio in India“.7 i
(a) Haryana (b) Kerala '
(¢) Tamilnadu (d) Punjab ‘
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2 W7 Auiryssefen cramanisams
x 1000 =

Qurgg é&adr Ggnens

(31) s(meueTd

(<) Gamymwiwmrer QQUq eSgib (CBR)
(@) wésT QsMens &g

(F)  ergla|bldeney '

The number of live births
Total population

x 1000 =

(a) Fertility

() Crude birth rate (CBR)
(c) Population rate

(d) None

D& &6
eremmLI(pitb

Qsrensemw

T GHT @) QUG

(=) s wsdHwu yerell edurrhiser
(<) oueri&d eSsid '

(@) smssNsse eigib

() wéser Qzrans sawsCs@Lriy

An enumeration or counting of a population is
referred to as

(a) Vital statistics )
(©) PFertility rate -~ (d)

Growth rate

Census
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6.

Spdarauiibpidt @b Quuindfldsner - GVapdi@h

sugefl agy?

() 0B i rhHpd

(op) @uipes SHpib

(@) Geuam@ qumiLiL&sa
(m)  sidlued SiGsE

Which one of the following is the pull factor of
migration?

(a) Religious conversion

(b) Natural calamities

(¢) Employment opportunitics

(d) Political disorder

uneller afflg ererLg

(@) Gpoy  dsh  wppb  @poy  efgb
pdwepdpeE @eLCGuurar Geupum®

\
(=) WiTd ensEpsd asgmar  Queamser ]
2_GTETENT 6TeiTLIGM(&GLD 1

[

@) mm aﬁ,éme;@é;@ asgemar QuamadT 2 draTeir
GTEITLIGM(GLD : |
(FF)  wéser Qgmens QuUEpssh uDPw Hodek |
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Sex ratio means

(a) Difference between birth rate and death rate
(b) Number of females for thousand males

(¢) Number Qf females per hundred males

(d) 'The study of population growth

s sTslLsHd QpHu e G;,snma; adi
wapwrs QusSpg

() 1911-1921 (@) 1921-1931
(@) 1941-1951 (F)  1991-2001

During which period, India’s population marked
negative growth rate

(a) 1911-1921 (b) 1921-1931
() 1941-1951 (d) 1991-2001

Ssenamueuppier orps qenm wallgeuar GubUTLE
GOSE sarabiligd Crissliu@eauddame

(1) @puyer (=) sevell

(@) eumeums (F)  &IL® eusd

Which one of the following is not included for the
calculation of human development index?

(a) Longevity (b) Education
(¢ Income (d) Housing
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10.

11.

wéseT  Qsrensenw

; &HTIg- 60 eneowimen
:iﬁl_mzb lnr@;isg‘lu‘r—f);] Gaélu  L&&ET Qsrens
Qanareawier fam_sme GHIESLMGD
(=) 2025 (<) 2030
(@) 2045 () 2050

As per the national population policy of India, the
long term objective is to achieve a stable

population in the year
(a) 2025 (b) 2030
(c) 2045 (d) 2050
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

() wéseT Osmens LIHPSHDG WhosW Haow
&hisg dlarsEs.

Explain about the pre transitional stage of
demographic transition.

Or
(=) wésar Qgrasuiiudear Wadusgausms snms.
State the importance of demography.
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TS

12.

13.

14.

(1)

(=)

(<31)

(=)

(=21)

(<)

DUET DL GUMERT GTGTDITED  GTGTRT?  DG6hr
UWIEHT&ET Wreneu ?

What is life table? What are its uses?

Or

Qurss @aQumss g wHmb Hay
Qe Qu@més s GNSs GOHUL uamrs.

Write a note on gross reproduction rate and
net reproduction rate.

@Lb QUWTEMET BeTenLD&ET WTeneU ?

What are the advantages of migration?
Or

@Lb QuuITseT eumasET Wramel ?

What are the types of migration?

auwgl YgSH eTemmred Tean? BiS6 HeTannaeET
wreneu ?

What is age pyramid? What are its uses?

Or

cuer(pd BrOsaflen wasaT Qsrensuldr euwg
wHmib ureller uFeud GDSs T (&S

Write about age and sex structure of the
population in developing countries.
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15. (@) Csflu wsser Qsrenss Qsndrews 2000-ar
Quidysmer QsTESHIS Fams.

Summarise the features of population policy
2000.

Or
(<) w&seT QgTens EamUT( GTEMDITE) GTEHTET ?
What do you mean by demographic dividend?
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=) wésdr Qsrensuweier LFLIQUDmeU edeufl.
Describe the scope of demography.
Or

() wrdgallar wssam Qzrens  Camiumgeer
Sparmiey Qsuis.

Critically evaluate the Malthusian theory of
population.

17.  (=1) &meuer

eflsgans
afleré@s.

undlé@n  sryenlsamer

Explain the factors affecting ferti]ity rate.
Or
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18.

19.

() Qaiumssnd wHYD Gwhossd BOSHL LD
(RCH) @5 sy cuenys.

Write an essay about Reproduction and
Child Health programme (RCH).

(o) wésdr Czrens QuEsssded ELDLAUWIED
LHDID BETLWLTSSE FTE65m8 b liis.

Explore _thé effects of migration and
urbanisation on population.

Or

(=) @pdurele @LbQuuisdar a@TamwETD
(8Cunegw) Cursdlamer LESsTLS.

Analyse the recent trends in migration in

India.

(=) @pdwneler weser Qsrensuden (i@meniosma)
Curs@sadr @Nss Aaréss.

Explain the recent trends in population in
India.

Or

() 25 wasar Qarevsller  ouemiddl  WwHMIL
ureuOTsESED @GNSg eleudl.

Explain the growth and distribution of world
population.

Page9 Code No.:10802 B



20

0 e - A
Cafu &S @eren dandrasiic
£
o

Qz é"aﬁﬁ" IWIA IO i
o SUIeEy peher Wy UL A

Critically evaluate the performance of

population policy in India.

Or
uaCargy s0p5 Gpellen wafl seuar

Cuburiipsre udGaup 2 sHsaer Bafl.

Describe the various strategies for Human
development of different social groups.
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